[bookmark: _GoBack][image: ][image: ][image: ][image: ][image: ][image: ]
[image: ][image: ][image: ][image: ][image: ]6.
5.
.
4.
3.
Through (-5, 1)
Through (2, -3)
2.
1.
Write the equation of the line perpendicular to the given function that goes through the given point.
Name ________________________________ Class ___________ Date _________________
6.2 Part 2 Perpendicular Lines 
No Work = No Credit
B.
A.
9.
Determine if the following pairs of lines are perpendicular.
8.
10.
7.

image6.png




image7.png
—6x — 14y =5
7x=3y+21 F
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—6x — 14y =5
7x=3y+21 F
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—4x+6y==6
5x — 2y =10




image10.png
ARCHAEOLOGY An archaeologist is
comparing the location of a jeweled box
she just found to the location of a brick

wall. The wall can be represented by the

equationy = — %x + 13. The box is

located at the point (10, 9). Write an
equation representing a line that is
perpendicular to the wall and that passes
through the location of the box.
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MULTIPLE CHOICE Line DE contains the points D(—1, —4) and
E(3, 3). Line FG contains the point F(—3, 3). Which set of
coordinates for point G makes the two lines perpendicular?
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A1, C (1,4
B (1,10 D 1,-4)
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RADAR On a radar screen, a plane located at A(—2, 4) is flying toward B(4, 3).
Another plane, located at C(—3, 1), is flying toward D(3, 0). Are the planes’ paths
perpendicular? Explain.




image1.png
perpendicular to y = 3x — 2
passes through (6, —1)
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perpendicular toy = %x +2,
passes through (0, 0)
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perpendicular toy = %x -1,

x-intercept at 4
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perpendicular toy = —4x + 1,
passes through (-8, —1)
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